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Note :— Attempt five questions in all. Part—A is compulsory.
Select one question from each of the Units 1, TI, TII

and IV in Part-B.
Fo Ui Ue FIQL WI- A §1owred |
geash g I I 1T & IV @ T&-U&% ¥ =1
SIS |
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I. (A) Objective Type Questions. Attempt all questions -
s g |t qudl & I qfe .
(i) Economic Growth is :
(a) Single Dimensional
(b) Multi Dimensional
(¢) Quantitative Concept
(d) Both (a) and (¢)
anfef faserd ® :
() Uhel A
(9) &gl STl
(§) wETEs fagm

() (31) T (W) <

(i) Underdevelopment is a :
(a) Relative Concept
(b) Absolute Concept
(c) Weak Concept

(d) Nonc of these
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(1)

(1v)

35oq fawmg & ¢
(31) Y& TR
(9) qoui STEHRon
(9) HASIN STEHI0N
() 3T ¥ ®rE T

In which year, Kuznets gives his inequality

theory ?
() 1950 (B9l
c). 19 (d)= 1958

FSeH 3 oAU EEEW w1 fagi| w4
gfqurfed fean ?

(1) 1950 () 1951
() 1955 (SFE958
.............. is an external source of supply
of capital. (Term of Trade/Borrowing)

.......... wg 1 qfd w1 UH SR A
(YR T I/ IHR)
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(V)

BN 0\\‘

(V1)

CH-360

The concept  Offu... W dualism vy, .
propounded by J. H. Boeke.
(Social/Technical)
........... saare & fagia 1. 9fques Sy
A A R (GrefSTeR /qeheiehT)
¢

As per the Marxian model, employment is

a function of :

(a) Level of investment

(b) Labour supply

(c) Wage rate

(d) All of these

o o fagia B SER, TSR waeE ¥
(1) frewr & =R o

(%) g9 ® qfd =

(8) "ol =l T

(%) F 7ol

(& Cl



(vil)

The Swaran Jayanti Shahri Rozgar Yojana
was launched in December, 2000.

(True/False)

ol S el ASTR ASEl i Y[er
fegm 2000 H w1 TR (Hea/3TEcd )

(viii) Prof. Myrdal is a critique of Big Push

Theory. (True/False)
4. foda w= e foga & oEs ©
Tl (Fea/3TaA )

For the group of high income OECD

conniTies & o is prepared.

(HPI-1, HPI—Z)'
3=9 =74 9 OECD ¥ & foam ...
A S E (HPI-1, HPI-2)

Increase in international price reduces the

profits of exporting countries. (True/False)

sRiedm wmd A afg frafee < & o

# figge @ ¢ (| A )
Ix10=10
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(B) Short answer lype questions :

Y W g

(1) Distinguish between Economic Growth and \ Wh
Eeonomic Development. \\ g
T Gafg qen sufefs fawmg § 1 siqw \\ j:
- |

(1)  Explain the composition of Human ‘
Development Inde:x.‘
HAE a8 gashieh &1 AT HT AwEn
HIfSTT |

(111) Discu§s the concepts of Lorenz Curve and
Gini Coefficient.
AR g dem firt HITRT= Y
STAMRUNST T = Hife |

(iv). Explain in brief about MGNREGA.
MGNREGA # =R § wfyq =men #ifsu |

4x5=20
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Part-B (HT—=1)
Mit—
- Unit-1 (zarrE-1) 10x1=10

What 1S Underdev 2
‘ veloped Ec ‘ :
] I conomy ? Discuss the

main features of an undcrdcvclopcd economy

- ACIRITA ST F AR L 2 sreqfreton
AgATE hl 9@ favva Al w1 T Fifem
Or (37Ud)

- Distinguish among Economic Growth, Economic

Development and Sustainable Development.
sfef afig, onfds fowm o wuifta fasmm d @
ey |
Unit-IT (3=hre-11) 10x1=10
4. Explain vicious circle of Poverty. How can the same
be broken ?
Tt % ToaE w) e i T8 R e A
S Hhdl T 2 |
Or (31913"5
5. Explain the uncqual distribution of income in India
in detail. What steps ha\?e. been taken by the
Government (0 reduce the income inequalities in

India ?
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0.

g 8§ o @ otamd faatm @ fAER ¥ Ay N
FITC | TEHR A 3T H) FTAHENS Pl FH FAH 3
F HIH I § 7
Unit-I1T (3&13-111) -~ 10x1=1g
Explain the theory of Technical Dualism.
ddten! gaare faga o oamen Hifed |
Or (3724

Explain the Marxian Model of Growth.
ed & fawg fag@a & =memn wifsu
Unit-IV (HE-1V) 10x1=10

State and explain the theory of Big Push with its
limitations. :

W= v @ fagm # dwsl Wi fga s
Hifsg |

Or (34
What is meant by Import Substitution ? Critically

examine its contribution for economic growth.

A AT § o wwe ¥ 2 e faw
7 TEE e F AT s Hif
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